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|EC]

f(x) = —4x — 7x1° + 5x°
F(x) =

{uO = 1
Unt+1 = TUy
terme général
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482 — 522

cos(m — x)

|z| = 5;arg(z) =0
7 =

z="7+Ii
|| =
6 5
x5 %0
fe) =%—

y 10x2 + 4x — 2
xombo \ 10x2 + 4x — 12

D(8; —1)et A(—5; 2)
|4D||

6
f(x) =2cosx —5cosx +—

)
F(x) =

{uO == 6
Unt+1 = luy
terme général

f(x) = (—8x° + 8x8)°
fl(x) =
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142

sin(m — x)

P(x) = —3x% + 5+ 4x
A =

z=—-6+7i
|z| =

f(x) = sin(—4x — 8)
HOE

flx) =—6x*— 2x—%
F(x) =

{uo == 6
Upt1 = U, +5
u3 ==

f(x) = sin®(—8 — 10x)
fix) =
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202

COS (x — %)

P(x) = —3x — 3x?

z=v3—1i
|z| ; arg(2)

f(x) = (—8+x +x*) <é+x>

flx) =

lim
X—+ 0o

—4x% +5x +3
10x2—x —9

G(5; =5)et A(2; 5)
lGA]

f(x) = cosx + x10 + 2x10
F(x) =

{uO == 0
Unt+1 = —3Uy
u1 ==

9
o)
X) =
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3+2
8 8

— cos(m — x)

(7 4 50)(—9i + 7)

z=\2+2i
|z| ; arg(2)

f(x) = 3sin(x + 8)
F(x) =

li >
x—1>r-l¥loo <_ x3>

(6; Detv(—7; —1)

u
Uu-v

7 4
f(x) =2x—;+x
F(x) =

{u():l
Upyr = Up + 4

U7 =

f(x) = sin*(8 — 9x)
fx) =
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27 X 33

Sin (g + x)

(5 =5i)(—10i — 4)

z=8-—12i
|z| =

f(x) = —=7cos(3x —3)
HOE

() e ()

f(x) = —x%+4cosx — 6x
F(x) =

{uO = 1
Un+1 = 4Up
Ug =

4 3
fx) = (— ~ 10 + 1Ox4>
Fie) =
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542 — 467

sin(mr — x)

—34i—44+ 271+ 4

z=8—6I
|z| =
—x? + 8x°
f(x) = 1
F

f'(x) =

li >
x—1>T1 <x8)

u(—4; —9) etv(10; —9)

u-v

f(x) = —3x°% — 10x1% — 2x*
F(x) =

{uo = 9
Uptp = Uy — 4
terme général

5
f(x) = (—7x8 —7x + %)
fix) =




